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(1) log 12345
(2) log 0.0004

& (1) log 12345=log (1.2345x10) =4+log 1.2345= 4+0.091491094= 4+0.0915
HH¥ A 4, BEE 0.0915

(2) log (0.0004) =log (4x10*) = —4+log 4= —4+0.60205999E —4-+0.6021
EHEE—4, BEEE 0.6021

€D2. v 1, BETH h—1.054x10% HH - B, BK

(1) logn HYEH -
(2) logn HYREH - (PUFETLAZ/NEERER EBIT(L )

iy

2 log (1.054x10%) = —34-+log 1.054= —34-+0.02284061= —34-+0.0228
(1) H#E R —34
(2) %k 0.0228

s ISR, Kb T & /VE -

(1) log 3% fryerE;
(2) F° ZLfirgy 2
(3) F°° Wy A

F2 (1) log 3°°=200xlog 3= 95.42425094- 95+ 0.42425094
EHERy 95
(2) F° & 96 fir
(3) log 3% E#i49k 0.42
log 2= 0.3010< 0.42<log 3= 0.4771,
iy % EHirETh 2

@4.  (0.2) ™ Btk /NEEZ BIEB AN FAEEIE 0 BB 2

z log (0.2) "®°=700xlog 0.2
= 700x ( —0.698970004
~ —489.279003
= —490+0.720997
TE/NECREREE 490 fii A HIFHA By 0 BV
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€Ds. A5 10000 T AST, FFHIE 2 %, EHFEFHE 1R, YEF 6 4F

(1) ELAEFETREAE, R 6 FEAFMAEZ/IT? (WA AZEEL)
(2) ELMERETREAIE, Rl 6 FEAFMAEZ/T? (Wi AZEEL)

& (1) 10000(1+2 9%x6) =10000x1.12=11200 ( 7T)
(2) 10000(1+2 9% ) ° = 10000%1.126162418 11262 (7T )

Z. EfEE

@6- B LA ERNEE O MIER 5 m(n) Ton A n (YEEEE, A ﬂ(n)"%,
A EEUEET/INFY 100000 HYE Bl 8 o (PUFE 1A EEEHAL)

= 100000 100000
100000 = :
o Fon1¢ - 115120254

7 7(1000000 = 8685.889638 [l 77 (100000 %4JFH 8686 {EHE %

7. TmEEEE A, FGILEE 500 BT, THHEMET \BER 4 NEtd

Ty 2 i, EEENER 1 (BEEER SRR DR R E R, EIRRE A 7B RN, 5%
LR ERR N HB IR RGTA R 7 (TR A ZREE L)

e “ofh n RorFEH 500x2 (I,
500x2' = 100000006- 107,

1
mo2"> — x100 = 2x 10
&l 500

WA EUHS FH L,

5% nlog 2= log (2x10°) =5+log 2,

¥ one 5+log 2
log 2

RN 4 /N,

FTLAL 18 x4 (/NEf/ZR) =72 /NI,

HOBREA R 3 K

=17.6096404,
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8. O pH EAIEF S pH=—log[H'], Frh[H 1A EaE TR (B : ST /TH), B4 pH (&

By 2 B 100 ZFH8L pH ER 4 AR 100 27, 5UKRATRESERT pH E - (I
BAZE/NEGRER SR L)

B rom oM R 2 IUETREEETR, 1o B pH (B8 4 ISR
i 2=—logri,
5 logri=—2, Bl r;=10 2,
[EH, B 4=—logr.,
75 logr,=—4, Bl r,=10*
100 =7} 10 2 HH /FF8L 100 =7t 10 * BEH THERCRE ZIERERE B

—2 4
10°x100+ 10°x 10C_ 1 12 1 4654 5104 5x10 °
200 2 2

= (5+0.05) x10 *=5.05x10° &EH /F,
R REEEI pH E 5
—log (5.05x10°%) =— ( —3+log5.05 = — (—2.296708622 = 2.3
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. 1.14 %
RIS 114 96 BAEA R = 0
EEHER 2 8, n [BHEREEE a BT,
a;=100x1.00095-2,
a,—a;x1.00095-2,

=0.095 %,

an=2an 1X1.00095-2

= { -+ [(100%1.00095-2) x1.00095-2 ) x1.00095-2x:--} x1.00095-2

—=100x (1.00095 "— (2x (1.00095 " '+4---+2)

=100x (1.00095 "—2x (1+ (1.00095 +---+ (1.00095 ")

—100x (1.00008) " 2x(1:00095) -
1.00095- 1

fEREEN, A a.<0,

4 100x (1.00095)< 2 (1-00095)~ -
1.00095- 1

2

1.0009°

IR ( 2 —1oojx(1.0009532

1.00095
. 2105.263158

575 (1.00095) ~ 1.0498687¢€ -
(CEEN )2 5105263158 100

W2 HYE FEE AT 15 nlog 1.0009% log 1.049868766

B nx091.049868766 o) ,cqgo511
log1.00095

W 52 [ HTREE A RS
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(2 FHRIFRES V2 , TRITREREM AL —RN V2 &,
HE—REER V2,

EoEER V2x42,
e R,
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